Glyphs from Ezhuthu_Regulas,

notdef ull nonmakingretusn CR space exclam
quotedbl numbessign dollas, pencent ampessand quote;iwg,le
w ’
(o]
i $ o &
parenleft panensight astesisk plus comma hyphen
*
( ) + , _
pesiod slash 3en0 one two three
fous, five Six seven eigrht nine
colon semicolon equal gneaten, question
at

loe|—-|o-

< = -UTJ(J(_\OUV

si@o ae mm D

>§><Wm|—'u—"r1ﬁ@

<<U\m33®@}bv-

NN——{-{ZZIxUVW/\gO\

byack

)

tleft

backslash

o

bnack

)

tright

asciicigcum

>

undesscone

Y
&
v D
=
o

O —

Q.=

—-—
e

=T v|—

-lo

EESSTTQ

f
f
|
"
X

QCWM‘";iQ@@Q s [—

63D

2Q)

j n
) n
p t u
p t u
v % bnaceleft
v % {
bas, bracesnight asciitilde panagsaph cincumflex ing-
o ~S
} } 1
tilde anusvanaabove michandsabindu ANUSVARA visang-a mi_a
o v o
o) 0 @0
ml_aa mi_i mi_ii mi_u ml_uu mi_s
G | 6Y D) @ Qv B
mi_( mi_e mi_ee ml_ai mi_o ml_oo
6o Q) 233 6)() 63 630
ml_au k1 k2 k3 k4 ng




&
S = o o g — ) - o Q 3 "
- 5] I - £ ~, = | S 'S ) g9 £ S s £ >
sn|2glaed=C & SN= DEAs £ £ = 2 EL AN WE < b £ £ £ £
S © = = ® S = =N E £ S =
W :W_ = =
S
- —
£ Al = o N3 s 2 = < s s 2 g
. = — o S - & = S = N s S £ = =
“E1Eg|= =R m.~ = 0 e |ey) 2 P - GEEE 1 ER QR R g
S = 0 < £ = r =
3 —/ H S .m e = = <
£ =
(&}
S
£
: - : 2
£ = Q S 2 -
<+ - I~ - & = O = M ™ Lma.,w 3 /m l.mm,LQ ~ s 5 = £ s =
X = = = £ - = —~o|s s (ﬂH\ O § mvsxmd =2 Q z .RAW)S,M@ = m@@%
© = S £ s = & < S Rl ke =) = =
N £ Q ] Y ) = = = R
2 < = S
r =
]
>
"
sy o o
g (= = (=]
s S — 2} = i~ = = o) =
b2 < z = = = @2 D S et ) = =4 < < ) o s > P
m%t wm = | “6 | g 20 |z - £ ol AR Q£ £ TR |E =
= = N = = = £ £ =
= B Sl
=
)
3
- S - -
S o . o = - s S = o
o <+ ) N e S = o = = ) 52 3 = >
%) <+ - -~ = | ~ = — = s
S S IEIE@ = =c— |3 Q|- |= 2 NP ERe = = S ERYER) 24| S EE| 2
£ = = = N 2 > = £ =z £
= - > >
=]
S
=
rs = g
< o S — = p— ~ o, b= o W\
= ~ (2} ) — N - > — | - s S £ 2 = C> = = £ [
:q:0lz @ g swaoe@x -8 mwt s Rl |2t QER) P E R LS\
=




kishmt

kinhzh

&

k3u2

3

k3k4-

k3thath4u2

k3miut

k3(3ut

k4%3

ng-kiut

pe:]
chiut
20

chowt

ch3ut

ch3ch3st

ch3%3u2

ch4%3u2

njch2

njnjuz

titiue

t3ut

W

t3t4

t3%,3u2

t4%3u2

o0 | 20

& &

s g S
o o o = - — -
B = = < - — - s o S F 3 5 P = 9 = S
- » %) 1 = [} s
= > = o = = 0 = % <o S o = P 2 = > = ) E ) ) 0
- 2} © =5 D2} el ® < = = N ] v < S MJ = N rd s £
= < ~ ] = -~ = ~ = = S A= [0 - = = = ey - [\2} N <
X~ » < S = S S = 3 A
2
< <+ - nL = =
s - = - o g s s s - o L2 B =
~ = ~, <] » = = = 1 %) [2]
= S o) > @ S S = s oo s 2 - '3 = = = iy S [} g =
v = <+ oo = S [S) L2 < = = N e
= 2 B % = = & < S > S S 3 = = =X = o S ) e %
< = B FD |2 SN0 15 TS Vs S S = 5

(=] = (=] N
= — — - = » ) — - o
— = > = S 3 (] = oo = - =1 > = -
= VS s %) (7] = ) = S = = I [ e MnL S 2] = Zuu 2 = =
¢ =~ < Bl b= 3 5 < = = e = ® & s > S 5 s ) 0 5
X =~z Hw -~z Rw > = = (rw e fm (ﬂr.v e = m = 4 4 s}
o] (s} - ~ — —
= S S s < - - — S ~ 5 = =
= = = 2] ® b= 2] = 3 s - = = = = ] o ~ S ~ s )
R ER R SSEDRESED YD R Y Gl 227282 zom 2@ SO |
R /m £ C | = © = = = < WI S S S - S = = + 5 -+ ) >
R i =< -~ oS = )

kishut

Ay | M

kishmiut

i T .

ki hnhut

,

k31

k3th3

k3th3th4%3

k3amiu2

3L U

k3(3u2

L

k4-53u

cq | g

ng-kiu

chiu2

9

chou2

2B | 2D | (2D | 2y | @) | B

ch3u

chanj

S0 | SH | g

ch4ut

o | W | @y | (Y | @y (@Y

njul

o | 6%

njch3

6B | O | 9% | OO | 607 607G

tut

tin3

G

t3u2

t3t4ut

¥ Y MW WG

t4ut

AT~ I A I




g I
I g Q o g & ) S > o
. = - » -
) EPE LR P | RN DO @ T S| i .|t
> w N 2 - s} =3 =
=2 2 = = = = £ R = 2 = = = = = z 2 o £ £ S £
= = = =) - = = - - -+ - ) - = o = = = o
e -~ = =
S
Q = s = =
s = = s ) - o > =
I - = S s S = = - I’ =] = s 2} ~, = s
R R ERLEE) R S P Fi®) Q8T ) L) S wmE
= = - 2 ) = - - -~ = =) = =
= = = 35 = = = = e e [} e = = b= =] = = £ = o s
= -+ - = :m = = =
=] ] =
S ) I - » %)
- = = o ™ <+ Iy - S =
-~ <+ o — [} = = ' = ~ ~— —
32 3 2 = £ 'Y 2 z £ EGat 3 3 2 )= 62 s £ S 2 2 "do|=7E
= == £ = &Y= = = = 2 = 2 3 = £ s == S = s £ s s
= = = = = - = = - = = = = =
- -

nhtt

nht3ut

nhnhut

%

thiue

thithis3

thint

(on

thimiuo

g

thil3u2

thistmi

th3ut

R
th3th3s1

3

th3tham1

th3%3u2

G

thas3u1

nithiut

Y9

nithe

nith3s

nith4uo

nintu2

nimin3u2

piu

g

pithin1

%

nhuo

nht3

nhnh

A

thiut

thithis1

thithaua

thimiut

thil3ut

€6

thistn

thami

1
th3th3u2
£

th3ath4nt

@m

th3s3ut

G

tha%3

“w

nitht

nithin3u2

nithaug

nith4ut

niniut

nimin3ud

piut

o)

pithiua

i

nhut

Ovo | 6y | One

nht2

6 | 6 | 6y | Oy | OO | 6mug

nht4uo

omg

nhmiu2

thithiu

om | o | @ | @ | @g  @o

thithout

@ | O

thimt

2 | g

thil3

6

thisttho

ndp | (O | (ory | (©w

thant

'8
th3th3ut
G

th3th4s1

th33

@

thant

“

nigd

V) (Y6)

nithin3ut

3| & Mo

nithaut

M 0

nith4

W | g | g | ] ) Y

nini

mn | (o

nimin3

nighu

pithiut




_ I — P = = — Q =
= = - © « s = . o = e o = S = g s o S = o <
PR TS Y| TP w@mw%m NEP -k =T
= - - ] = = £ B S > = - ® 2 -
— =] s 2] %) pe ] — 2] - = ~ ~ ~
[ - = S = B » > s = £ £ s hv2 S = = = e £ S S
: 9 #F-F: S am pM?@ WPt S) i PEP R -RETP = |z 0P - kM-
= o = £ R =] » £ by o z = = e e pon ® R e S o
= s a = 2 = - = = = = £ > = > = ) B I )
g - s = ) - s o 2 = B = o s - p - - o = =
N = S = = 1 = ES Rv3 = = S
B B P P F T E T P P iw P T F @R F T @
o a a8 = S o 23 S = £ £ g > =S S = = ® 2 ®
E 8 z e - Qele g ° 5 5 S E © s 36|z S g g 3 = "
@B R W |ior| D Picw F P F |- 99 e R %
L FIH IS || W ERLE AR PP |D| )| P e
= ~ =2} 3 2 = = ~ = s — - — = —
g o g £ 3 2 wm Py S 3 g S @ z S 5 z s g = s =
g = g a = { 3 2 © £ = £ £ > =S = £ R ) % = I
o S 2 o S M. = = £ =5 - - »
= &
(=] = —
— < = = 3 - <+ 2 = 5 _ S = 9 3 _ - =
= 2P QE = | B|- W e SV P -R) = = TP =% 25| op2
S £ a a = ] © & © £ = r £ Py = = > = i) ® = [
S S S S S o = = > .WVJ Se »




vil3

3ut

Y2

31chin

Zimiut

31(3u

313143

@

shki

R

shkikiu2

3

shtiut

&3

shnh

shpint

%

shy3u2

stkiu2

stki%3

sttiu2

sithiug

stthout

(g

s1pt

$1ptn3u2

simiu2

sil3ut

28

sis1n3

& | &

=~ o - = - - = - _ - n* = — _
> g S = 2} £ = W it S s a = L S = g rW ) = ) Wﬁ. w
2 < = = = o = = N 2 z = 5 = =] b= £ s T v
£ IS ] w o = % = > =z = < = z 2 = £ £ s £ > 2
by > NS ) > ] v ] v > v V) v ) o ) v
N N
= = o = — o = - =
> s 3 g = < o = > s S o - s — = ) s e = S <
o0 < = = ) = s < > N = &£ Rv) = iy = s 2 £ s ® S
& S [ s £ ) - = k=) = > - 7 - b7 - = s S = = v
-~ by ~ - - ~ (%} R = -~ (v} > w -~ - 3 wv £ ~
> = N R ~ ~ v = v v b3 = v v ) v
v v
= - = =
= = = -, = — o =
= S > S = - P — s = ® - Md b= -
(QEIEGEE| S| Q= o | = oo - ol o s E |2 | B B Do W F T S
£ < = = £ = > = = > > S v v b < = o & IS8 £ 2
L) N Y N v = b = =4 v w v v
2] (V2] w
d o = -
] — o = ] o~ [\2) o ~ = 1 Rp) %.Jdﬁ =
-~ = e [\2) S N g S ~
edE = = 2 Q0|2 = oR9)| £ 9| £ dPY|= S| z 2 ANl = 2 2 o
= = ©Y = o X S = = = = > b b = o =] =] =3 S b v
> ﬂﬂa % v v ;] b b VY Py v v
— o s - - » _ = - o —
~ b=t I g s o ) S £ g S &£ = = ) R £ = s = >y S
2 D = S = o £ = z T = s 2 = E b = = 3 e £ )
= L] 2 S ® £ = = &£ = [
= > M I = ™ i > = > > > v b ¥ 7 b k- b v o >




stphshn3

0
finue

fl3u

(hhua

Zhkiki

zhthiuo

3hniu2

3hptu2

Zhstut

R

nhnhu

q

sinhnhue

L
finiut

fu(3

3hkiu2

Zhthiut

Zhniut

2

zhptut

3

3hst

%

nhrhut

q

sinhnhut

0w
funi

VD | nlvo | 2l

fi%3u2

(lf

(Alhut

Zhkiut

%

Zhtht

%

3hnt

%

3hpt

L

Zhviu

9

nhnh

Q

strhnh

Y]
g1
)

fin3ut

(hua

3hkt

%

zhch

2

Zhthithiug

A

Zhniniu2

%

Zhvint

9

nhu

3

$151%,3u2

fis3

lhut
%

3hu2

zhkikiuo

%

Zhthithiu

%

Zhninut

%

Zhvt

]

it

Q

sisin3ul

fiut
a0 a3
fimi

w.

23| @ @ @9 @Q

fl3ue
)
[©A5)

Zhut

€

zhktkiut

%

zhthitht

ta

Zhning

i

Zhmit

3

3hstu2

%




